
M/Sir 

 

 

 

 

 

 

 

myF  : -  jrkk; 

ghlNtisfspd; vz;zpf;if  :  06 
 

 fPNo fhl;lg;gl;Ls;s xt;nthU cUtpYk; epow;wg;gl;Ls;s gFjpia KO cUtpd; 
gpd;dkhf vOJf.  

 

  

 

 

 

 ghlg;Gj;jfj;jpy; 11> 12 Mk; gf;fq;fis ed;whf tpsq;fpf; nfhs;f.  

 jrk vz; xd;wpd; xd;wpdplj;J ,yf;fk;> jrkg; Gs;sp> Kjyhk; jrkjhdj;J  
,yf;fk; vd;gtw;iw njspthf mwpe;J nfhs;f.  

fPOs;s ml;ltiziag; G+uzg;gLj;Jf.  

vz; nrhw;fspy; vOJk; Kiw 

0.2  

0.5  

1.7  

2.8  

13.4  
 

fPOs;s jrk vz;fis vz;rl;lj;jpy; tiff;Fwpf;f.  

cjh : -   21.3   

 

 

 

1) 0.3  2) 1.4   3) 13.2   4) 21.5 

 
 

                              

1 I 10 rk $Wfshfg; gpupj;J vLf;Fk; xU $W 
𝟏

𝟏𝟎
  MFk;. 

𝟏

𝟏𝟎
  I NtW xU Kiwapy; 0.1 vd vOjyhk;. 

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;    : fzpjk; 

 
juk; : 6 thuk; : 22 

 10          1    1

10
 



M/Sir 

 

ghlg;Gj;jfj;jpd; 13 Mk; gf;fj;jpYs;s gapw;rp 13.1 Ig; G+uzg;gLj;Jf. Vw;gLk; 

gpur;rpidfis njspthf;fpf; nfhs;s Mrpupaupd; / Mrpupiaapd; cjtpiag; ngw;Wf;  
nfhs;f.  
 

cUtpy; epow;wg;gl;Ls;s A, B, C ,dhy; fhl;lg;gLk; gFjpfs; KO cUtpd; gpd;dkhf 
vOJf.  

 

  A = ................. 

 

 

 B = ................... 

 

 

 C = ................... 

 

 

 

 

 

 ghlg;Gj;jfj;jpy; 14> 15 Mk; gf;fq;fis ed;whf tpsq;fpf; nfhs;f.  

  mjd;gb fPOs;s vz;zpy; xt;nthU ,yf;fj;jpdJk; ,lj;jpid rupahf tpsq;fpf;  
  nfhs;f.  

 

 

 

 

 

 

 

 

 

fPNo jug;gl;Ls;s jrk vz;iz vz;rl;lj;jpy; tiff;Fwpf;f.  

cjh : - 21.34 

 

 

 

          

          

          

          

          

          

          

          

          

          

A 

B 

C 

1 I 100 rk $Wfshfg; gpupj;J vLf;Fk; xU $W   
1

100
 MFk;. 

1

100
  I NtW xU Kiwapy; 0.01 vd vOjyhk;. 

5 2 7 6 

Xd;wpdplk; gj;jpdplk; 
Kjyhk; 

jrkjhdk; 

,uz;lhk; 

jrkjhdk; 

gj;jpdplj;J 

,yf;fk; 

Xd;wpdplj;J 

,yf;fk; 

Kjyhk; 

jrkjhd 

,yf;fk; 

,uz;lhk; 

jrkjhd 

,yf;fk; 

10    1     1

10
 

1

100
 



M/Sir 

 

1) 13.21                2) 24.01 3) 12.23  4) 41.04 

fPOs;stw;wpy; njhFjp A  ,Ys;s xt;nthU gpd;dj;jpw;Fk; cupa jrk vz;fis njhFjp B 

,ypUe;J njupe;J ,izf;f.  

A B 

 

10
 0.02 

2

100
 0.7 

3

10
 0.2 

 

100
 0.3 

2

10
 0.07 

 

ghlg;Gj;jfj;jpy; 17 Mk; gf;fj;jpYs;s cjhuzk; 1 I rupahff; fw;Wf; nfhs;f. 
mg;gf;fj;jpNyAs;s nraw;ghL 1 Ig; G+uzg;gLj;Jf.  

ghlg;Gj;jfj;jpd; 17 Mk; gf;fj;jpYs;s gapw;rp 13.2 Ig; G+uzg;gLj;Jf. Vw;gLk; 

gpur;rpidfis Mrpupau; / Mrpupia cld; fye;Jiuahb jPu;j;Jf; nfhs;f.  

 

 ghlg;Gj;jfj;jpy; 19> 20 Mk; gf;fq;fis ed;whf tpsq;fpf; nfhs;f. mjd;gb  

fPOs;s vz;fis <  I my;yJ  >  I ,l;L njhlu;GgLj;Jf.  

  $baJ  >   Fiwe;jJ 

1) 
1

10
   ........  

3

10
   2) 

5

10
   ........  

 

10
   3) 

 

10
   ........  

5

10
 

     4)  
12

100
   ........  

25

100
   5) 

3

100
   ........  

5

100
  6) 

1 

100
   ........  

 

100
 

 

gpd;tUk; jrk vz;fis gj;jpd; gq;Ffshff; fhl;b xg;gpLf.  

cjh : -  0.3    >      0.7 

  0.3 =  
3

10
     > 0.7 =  

 

10
 

 

  
3

10
 < 

 

10
    vd;gjhy;     0.3 < 0.7  MFk;.  

 

1) 0.4 > 0.6  2) 0.2 > 0.3  3) 0.8 > 0.7  4) 0.5 > 0.4 

 

 



M/Sir 

 

gpd;tUk; jrk vz;fis gj;jpd; gq;Ffshff; fhl;b xg;gpLf.  

cjh : - 0.25 > 0.34 

  0.25 =  
25

100
   > 0.34 =  

34

100
 

  
25

100
 < 

 

10
    vd;gjhy;     0.25 < 0.34  MFk;.  

 

1) 0.35 > 0.53  2) 0.12 >  0.32  3) 0.03 >  0.05  4) 0.07 >  0.09 

 

0.5 >  0.25  Mfpatw;iw xg;gpLf. 

  0.5 =  
5

10
  0.25 =  

25

100
 

  
5

10
  

5  10

10  10 
  

50

100
 

  
25

100
 < 

50

100
    vd;gjhy;    0.25 < 0.5  MFk;. 

gpd;tUk; jrk vz;fis xg;gpLf.  

1) 0.7 >  0.12 

2) 0.5 >  0.85 

3) 0.4 >  0.35 

4) 0.65 >  0.9 

 

ghlg;Gj;jfj;jpy; 21 Mk; gf;fj;jpYs;s cjhuzk; 1> 2> 3 vd;gtw;iwr; rupahff; fw;Wf; 
nfhs;f.  

 
ghlg;Gj;jfj;jpd; 22 Mk; gf;fj;jpYs;s gapw;rp 13.3 Ig; G+uzg;gLj;Jf. Vw;gLk; 
gpur;rpidfis tpsq;fpf; nfhs;tjw;F Kaw;rpf;fTk;.  
 
jrk vz; xd;Wld; kw;WnkhU jrk vz;izf; $l;Ljy; njhlu;ghf njspT ngW;Wf; 
nfhs;f.  

cjh : - 0.3 + 0.5 

 
3

10
  

5

10
  

 

10
  =  0.8 

 

0.3 + 0.5 =  0.8 

 

1) 0.7 + 0.1  2) 0.2 + 0.5  3) 0.4 + 0.3  4) 0.2 + 0.6 

 



M/Sir 

 

 

2.35 

       +    1.41 

 3.76 

 

24 Mk; gf;fj;jpYs;s gapw;rp 13.4 Ig; G+uzg;gLj;Jf.  

 

25 Mk; gf;fj;jpYs;s jrk vz;fisf; fopj;jy; njhu;ghff; fw;Wf; nfhs;f.  

 

  

 

 

 

 

26 Mk; gf;fj;jpYs;s gapw;rp 13.5 Ig; G+uzg;gLj;Jf. ckf;F Vw;gLk; gpur;rpidfis 

Mrpupau; / Mrpupia cld; fye;Jiuahb jPu;j;Jf; nfhs;f.  

jrk vz;fisf; $l;Lk; NghJk; fopf;Fk; NghJk; mt;ntz;fspd; xt;nthU 

xj;j ,lj;jpdJk; ,yf;fq;fspdhy; tiff;Fwpf;Fk; ngWkjpiaf; fUjp  

$l;l my;yJ fopf;f Ntz;Lk;. 


